Basic Math Vocabulary

. Which of these is not an integer?
a. 100

b. 10

c. 0

d. -10

. If you divide 15 by 3, what is 5?
a. The remainder

b. The product

c. The quotient

d. The sum

. Mary got a new job and tripled her
salary. Her old job paid $9.00 per
hour. What does her new job pay?

a. $27 per hour

b. $20 per hour

c. $18 per hour

d. $12 per hour

. Which one is not a whole number?
a. 3

b. 2.5

c. O

d. -4

. We vote for President every 4
years. We voted in 2008. Which
year will be a Presidential
election year?

a. 2010

b. 2013

c. 2015

d. 2016

. Mary bought a lottery ticket for $5.

Quiz 3

She scratched it off and it was a $10

winner. What happened to Mary?
a. She doubled her money
b. She lost her money
c. She tripled her money
d. She decreased her money

37

. What do you get if you split $60 in

three?
a. $15
b. $20
c. $25
d. $30

. If you multiply 3 by 6, what is 187

a. The remainder
b. The sum

c. The product
d. The quotient

. John's father is twice his age.

John is 35. How old is his
father?

a. 55

b. 60

c. 65

d. 70

10.Mary spent three times as much

a Susan on her new shoes.
Susan spent $20. How much
did Mary spend?

a. $40

b. $60

c. $80

d. $120

Answers
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